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7.1 — Arithmetic Sequences
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First, some terminology:

Sequence:
- an ordered list of numbers
-ex:-4,1,4,9,10, 12, 100

Term:

- a humber in a sequence

- subscripts are used to identify the position of the term
-t, =1ty =12

Arithmetic Sequence:
- a sequence that has the same difference between consecutive

terms, known as the common gifference, or d
-ex: 4,9,14,19,24... oddMy 5 | d=§&
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Geometric Sequence:
- a sequence that has the same ratio between consecutive
terms, known as the common ratio, or r

- ex: 4,8,16,32,64... 7.y r~X
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Recursive Sequence:

- a sequence for which one or more terms is given and each
successive term is determined from the previous terms(s)
-ex: 1,1, 2, 3,5, 8, 13, 21, 34,



General Term:

- a formula, labeled t,,, that expresses each term of the
sequence as a function of its position.

-ex: Ift, =2n+ 1, thenty, = 2(12) + 1 = 25.

The formula: (known as the General Term formula):
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Example 1
Determine if the following sequence is arithmetic. If it is, state

the General Term, then find the 40" term in the sequence.
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Example 2
The 7™ term in an arithmetic sequence is 53 and the 11" is 97.

Find the common difference, the first term, the General Term,
then the 18t term.

T 37 ;i/7gw'/
7 R
— NN TS

6 S ¥
_ |53+ 9d = 97 | €= 3¢ (a-1)(0)
a+ ()Nt =53 - 19 g wn
e NSl + (1-1)d = 77) - | 9
1 — _ ~
10 = 41 = §3-6(1 Ealin 21
0"-: / b= =13 tg: 1/(18)- a;’
LLIK.' 177




Example 3

How many terms in the finite arithmetic sequence?
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